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B.A.PART-III 

INTERNAL EXAM, 2020 

ECONOMICS 

Paper-I 

Time : Three Hourse 

Maximum Marks : 75 

 

uksV %  lHkh ik¡p iz'uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz'u djuk 

vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA 

Attempt all the five questions. One question from each unit is 

compulsory. All questions carry equal marks.  

bdkbZ&1 

UNIT-I 

1- lkis{k ,oa fujis{k xjhch dks le>kbZ;sA Hkkjr esa xjhch dks nwj djus ds 

mik; lq>kb;sA 

Explain Absolute and relative concept of poverty. Suggest measures to 

remove poverty from India.  

Or 

laf{kIr fVIi.kh fyf[k, ¼fdUgha 02 ij ½ 

1- vkfFkZd fodkl ,oa le`f)   

2- Hkkjr esa xjhch  

3- ekuo fodkl lwpdkad   

Write brief note on: (Any two) 

1- Economic Growth & Development 

2- Poverty in India 

3- Human Development Index 

P.T.O. 
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bdkbZ& 

UNIT-II 

3- dkyZ&ekDlZ ds vfrjsd ewY; fl)kar dk o.kZu dhft,A 

Explain Karl Marx's theory of surplus value.  

Or 
laf{kIr fVIi.kh fyf[k, ¼fdUgha 02 ij ½ 

1- cM+k /kDdk dk fl)kar   

2- Økafrd U;wure iz;Ru fl)kar 

3- dkyZekDl dk vkfFkZd o`f) ekWMy  

Write brief note on: (Any two) 

1- Theory of Big Push   

2- Critical Minimum Effort 

3- Karl Marx's Economic Growth Model 

bdkbZ&3 

UNIT-III 

3- ehM ds vkfFkZd òf) ekWMy dh vkykspukRed O;k[;k dhft,A 

Critically examine Mead's Model of Economic Growth. 

 

Or 
Jherh tkWu jkWfcUlu ds fodkl ekWMy dks foLrkj ls le>kb;sA 

Explain Development model of Mrs. Joan Robinson.  

bdkbZ&4 

UNIT-IV 

4- /kkj.kh ¼lrr~½ fodkl ls vki D;k le>rs gSa\ foLrkj iwoZd le>kb;sA 

What do you understand by Sustainable Development Elaborate. 

Or 

P.T.O. 

 



[ 3 ] 

laf{kIr fVIi.kh fyf[k, ¼fdUgh 02 ij½ 

1- cktkj foQyrk,¡   

2- i;kZoj.k iznw"k.k   

3-  tula[;k i;kZoj.k laca/k  

Write brief note on: (Any two) 

1. Market Failure 

2. Environment Pollution 

3. Relationship between population and Environment 

 

bdkbZ&5 

UNIT-V 

5- Hkkjr esa fuEu d`f"k mRikndrk ds D;k dkj.k gSa\ blls lek/kku gsrq 

fofHkUu mik;ksa dh foospuk dhft,A 

Explain cause of low productivity in Indian Agriculture. Suggest 

measure to solve this problem.  

laf{kIr fVIi.kh fyf[k, ¼fdUgh 02 ij½ 

1- ekSfnzd uhfr    

2- oS’ohdj.k ,oa d`f"k fodkl 

3-  LokLF; ,oa iks"k.k  

Write brief note on: (Any two) 

1. Monetary Policy 

2. Globalization & Agriculture Development 

3. Health and Nutrition 

 


